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학습에 불편을 드려 대단히 죄송합니다. 항상 좋은 책으로 여러분을 찾아뵙기 위해 최선을 다하는 해커스가 되겠습니다.  
	페이지
	수정한 곳
	수정 전

	69
	2번 문제 디렉션 워딩
	When the above passage can be divided into two paragraphs, which would be the best boundary?
→
When the following passage can be divided into two paragraphs, which would be the best boundary?

	71
	6번 문제 1번 보기
	① How the New Music Diverged from the Existing Three Forms of Music
→
① How the New Music is Different from the Existing Three Forms of Music

	173
	14번 문제 1번 보기
	① Organisms cannot survive without the ozone layer.
→
① Organisms cannot survive at the surface without the ozone layer.

	174
	16번 문제 2, 4번 보기
	② Researchers have found a vaccine for malaria.
④ DDT and chloroquine are not useful against malaria anymore.
→
② Treatment for malaria existed in the mid 1900s.
④ DDT and chloroquine are not always useful against malaria.

	236
	15-17 해석 끝에서 3번째 줄
	하지만 말라리아가 약에 대한 내성을 갖게 된 지역들에서는 새로운 약물 치료가 필요하며 많은 연구자들은 백신이 필수라고 말한다.
→
말라리아가 약에 대한 내성을 갖게 된 지역들에서는 새로운 약물 치료가 필요하며 많은 연구자들은 백신이 필수라고 말한다.





[bookmark: 이동_2쇄]<해커스편입 영어 문제응용2 독해> 2쇄 오타정정노트
학습에 불편을 드려 대단히 죄송합니다. 항상 좋은 책으로 여러분을 찾아뵙기 위해 최선을 다하는 해커스가 되겠습니다.  
	페이지
	수정한 곳
	수정 전

	20
	10번 문제
	<수정 전>
Which of the following best fits into (A)?
① by ② with
③ in ④ of
⑤ from

<수정 후> 
Which of the following best fits into (A)?
① at ② with
③ in ④ for
⑤ from

	69
	2번 문제 디렉션 워딩
	When the above passage can be divided into two paragraphs, which would be the best boundary?
→
When the following passage can be divided into two paragraphs, which would be the best boundary?

	70
	3~4번 지문 4번째 줄
	<수정 전>
caused whole nations in earlier day to tremble

<수정 후>
caused whole nations in earlier days to tremble

	71
	6번 문제 1번 보기
	① How the New Music Diverged from the Existing Three Forms of Music
→
① How the New Music is Different from the Existing Three Forms of Music

	78
	1~2번 지문 5번째 줄
	<수정 전>
Because payments of the principle and interest must be made on time ~

<수정 후>
Because payments of the principal and interest must be made on time ~

	80
	6번 문제 2번 보기
	<수정 전>
② those items which helps one’s identity

<수정 후>
② those items which help one’s identity

	133
	5번 문제 1,3,4번 보기
	<수정 전>
① Moreover
② In other words
③ Finally
④ Similarly
⑤ Nevertheless

<수정 후>
① For example
② In other words
③ Unfortunately
④ Consequently
⑤ Nevertheless

	173
	14번 문제 1번 보기
	① Organisms cannot survive without the ozone layer.
→
① Organisms cannot survive at the surface without the ozone layer.

	174
	16번 문제 2, 4번 보기
	② Researchers have found a vaccine for malaria.
④ DDT and chloroquine are not useful against malaria anymore.
→
② Treatment for malaria existed in the mid 1900s.
④ DDT and chloroquine are not always useful against malaria.

	184
	5~6번 지문 끝에서 2-3번째 줄
	<수정 전>
This church state tension springs, in part, from two confliction desires: to uphold a bedrock principle of American life 

<수정 후>
This church-state tension springs, in part, from two conflicting desires: to uphold a bedrock principle of American life 

	236
	15-17 해석 끝에서 3번째 줄
	하지만 말라리아가 약에 대한 내성을 갖게 된 지역들에서는 새로운 약물 치료가 필요하며 많은 연구자들은 백신이 필수라고 말한다.
→
말라리아가 약에 대한 내성을 갖게 된 지역들에서는 새로운 약물 치료가 필요하며 많은 연구자들은 백신이 필수라고 말한다.





[bookmark: 이동_1쇄]<해커스편입 영어 문제응용2 독해> 1쇄 오타정정노트
학습에 불편을 드려 대단히 죄송합니다. 항상 좋은 책으로 여러분을 찾아뵙기 위해 최선을 다하는 해커스가 되겠습니다.  
	페이지
	수정한 곳
	수정 전

	20
	10번 문제
	<수정 전>
Which of the following best fits into (A)?
① by ② with
③ in ④ of
⑤ from

<수정 후> 
Which of the following best fits into (A)?
① at ② with
③ in ④ for
⑤ from

	69
	2번 문제 디렉션 워딩
	When the above passage can be divided into two paragraphs, which would be the best boundary?
→
When the following passage can be divided into two paragraphs, which would be the best boundary?

	70
	3~4번 지문 4번째 줄
	<수정 전>
caused whole nations in earlier day to tremble

<수정 후>
caused whole nations in earlier days to tremble

	71
	6번 문제 1번 보기
	① How the New Music Diverged from the Existing Three Forms of Music
→
① How the New Music is Different from the Existing Three Forms of Music

	78
	1~2번 지문 5번째 줄
	<수정 전>
Because payments of the principle and interest must be made on time ~

<수정 후>
Because payments of the principal and interest must be made on time ~

	80
	6번 문제 2번 보기
	<수정 전>
② those items which helps one’s identity

<수정 후>
② those items which help one’s identity

	114
	유형문제 7-9번 지문 끝에서 2번째 문장
	<수정 전>
One hundred years later, the Negro is still (a) languishing in the corners of American society ~~

<수정 후>
One hundred years later, the Negro is still (a) languishing in the corners of American society ~~

	133
	5번 문제 1,3,4번 보기
	<수정 전>
① Moreover
② In other words
③ Finally
④ Similarly
⑤ Nevertheless

<수정 후>
① For example
② In other words
③ Unfortunately
④ Consequently
⑤ Nevertheless

	173
	14번 문제 1번 보기
	① Organisms cannot survive without the ozone layer.
→
① Organisms cannot survive at the surface without the ozone layer.

	174
	16번 문제 2, 4번 보기
	② Researchers have found a vaccine for malaria.
④ DDT and chloroquine are not useful against malaria anymore.
→
② Treatment for malaria existed in the mid 1900s.
④ DDT and chloroquine are not always useful against malaria.

	184
	5~6번 지문 끝에서 2-3번째 줄
	<수정 전>
This church state tension springs, in part, from two confliction desires: to uphold a bedrock principle of American life 

<수정 후>
This church-state tension springs, in part, from two conflicting desires: to uphold a bedrock principle of American life 

	236
	15-17 해석 끝에서 3번째 줄
	하지만 말라리아가 약에 대한 내성을 갖게 된 지역들에서는 새로운 약물 치료가 필요하며 많은 연구자들은 백신이 필수라고 말한다.
→
말라리아가 약에 대한 내성을 갖게 된 지역들에서는 새로운 약물 치료가 필요하며 많은 연구자들은 백신이 필수라고 말한다.
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